yelsoeq ueeAeiquiad ueienpbuad
uelebbuy  ueyeqnidd  ueRUBSYRD4  USWMOQ  uepury

C°€ AdXS vddd

yelaeq ueeAelquad
ueewWLISUSd uelebbuy ueyeqniad ueeuesye|ad Uswnyoq uenury

T°€ Ad)S vdda

yelaeQq
1ebueiad eliay uenjes uejelboy 194 uep weibold bunsbued
eluejog uelebbuy ueyeqniad ueeUBSHEId USWNYOJ UBIDUIY

T1°C°C Ad)S vddda

yelaeq 1eybueiad
e(19y uenjes uejeibay uep welboid jpinuaw bunsbue eluepg
ueiebbuy ueyeqniad ueeuesyeed uswnmjog Isenudeyay

¢°C AdXS vddda

yesaeq 1eybueiad el1ay uenjes bunsbue yepi
eluejpg uelebbuy ueyeqniod ueeuesyedd USWNNOQ uepuly

T1°C Ad)s vdda

yesaeq jpybueiad el1ay uenjes

uejedepuad ueiebbuy ueyeqniad ueeuesyead usawnyoq uepury T Ad)IS Vddda
yesaeq jeybueiad el1ay|
uenjes uelebbuy ueyeqniad ueeuesye|dd uswnmjoq uesebury adis vddd
AUITNINAEOH VIWVN Jaoi

LTOC NVIVODONVY NNHV.L

AUVS39 IVONNS SYIWSINSNd

(ad)is vdda )

HYVY3VA LWIDNVYAd VLIIN NVNLVS

NYVUVOONV NVHVENYUId NVVNVSHVIId NIWNIOA

MAVEIVINYE V10X HVLNIY3IW3d

[n¥vayvrNva|




Ri] palld

T uewejey

AdXS Vdda Jiinw.io4

800 T €0¢66T 8¢60596T "dIN

IS'W ‘HV11NAQV AIVS °H 'sid

yelaeq sLedDBS

INfnjeAusy

LT0T 429010 6 ‘nieqJefueg

000

000 000

000

000

ueeAeiquiad uesenpbuad €

000

000 000

000

000

ueeAeiquiad ueewLIdUDd 1€

00°00€"€05°'80S

00°0S0°LEE TS

00°009°688'€6T

00°009°989'64T

00°0S0°065°Z8

bunsbue eluejag (a4

000 000 00'0 00'0 00'0 Bunsbuet sepil efueeg | 1
000 000 000 000 000 uejedepuad T
L 9 S v € [4 T
HYTIWNC AI 111 II I
NVIVIN 'ON
NVINMIYL
NYTINMIYLY3Id HYY3VA LY)ONYUId VOAIN NVNLYS NYAVYOONY NYHVENUId NVVYNVYSIHV13d YNYONIA
000 000 (00°00£°€05805) (00°00£°€0580S) (11s143a) / sn1dins
000 00°0 00°00£°€06'98% 00’00£°€06'98% ese uep bueleg efuejsg zTs
000 000 00°000"009°TZ 00°000"009°TC lemebad efuejag 1°2°§
00'0 000 00’00£°£05 805 00’00£°£05 805 DNNSONV1 VINV13d s
00'0 000 00’00£°£05 805 00’00£°£05 805 VINV13g S
9 S v € [4 T
ueyeqn.iad ueyeqniad
% (dv) yepRIes wnjeqes
ONININIY
(bueanyjiag) (du) yejwng NVIVAN 300
/yequelpiag
HYY3IVA LY)IONVIId VOIIN NVNLYS NVAVOONY NVHVENUId NYVVNVSHV1Id NIWNIOA NVSYIONIY
YvS3gd IVONNS SYIWSINSNA $0°T0°C0' T ¢ IsesiuebiQ jyun qns
NVLVYH3ISIN SYNIA T0°¢0°T = Isesiue610 yun
uejeyasay 20 T : ueyejuHawad bBuepig
leseq ueueAejad qifepn uesnin I @ ueyejuHLdwdd uesnif
/10t uesebbuy unye
MAVEIVINYSE V1O HVYLNIY3IW3Ad
ad)s vddda HYYd3vA LWIDNVYHId VI3 NVNLVS
dijhwiog NYUVOONY NYHVENU3d NYVYNVYSHIV1dd NFWNIOA NYSYIDNINA ;
[nuvauvrNval




